brou)o préékm, X/ S¢core e Qg{cf'

He ? ?f'o p}oéém Jolu trsns om
class ed /oaJe

P{;ﬂcs Action CELTER
A~ &9 pm Ream /&3

]zeoﬂ e 2




FRom LAST LEC TuRE

CAV o- /UGI‘SM acce/erate at
b.7mls° for A.557

V=V, tat ‘
= O+ (& 7msT)YR.55)=4.8xi5 )

LOORLO RELCLORD FOR [OO #
DASH 15 ~(O05

V= '/‘Q,fsﬁ: /O #s
sp FooThall /9/4 P ranmig

5"'45'('6/* at end tone THhan
~Fas‘(’cs‘f peffé/l rn e coprio



fﬂ A car starts trem rest anrd
sccelerates at o. tonstaat rate€ in

a S'Crai'ﬁ,{'c line. Tathe !° second

om . How mauch additlonal
al

t (overs &
distance tnll 1t cover (A the 2

second 7




Mote
Ma 45" MQZS ‘e >lve '@fl.s /fe)é/g« ‘
wulﬁ solve 7001‘ chce./e ralton_ |

usin 2
Z’ X."—" X0+ Vot 'f'z'd_‘é X= f?m
“c‘?fe_« ﬂa.‘t occe leration o=@
into L second ) Vo= ©
X-‘- Xo+ Vot +Eqtt
Ao= O
V‘>30
t:RS
solve for X

At home preve to ;{oarse/,c
‘C‘A'(’ Foa. Je'(' Same Qnswen



Fven Mmore_ Lom,oh‘c«‘(‘eﬁ 4a 7

e S - -

x‘-zoz_)* ‘ X, = 7 7
t =!s t=/5

So/ue L acceleration 1 17 Secondd

solve /m, Ve/acr?z df'f'eﬁ / seconcl

X= XD+ Vat"‘ 24'6

cove s ¢t
- solve jd‘L X Lﬁb‘,i )

muck more in volvel

ot oreeg




ONE OF THE Mmost I‘Mporf'aa‘f'
cases of Ceastaat acce/leration
(S 04}96/5 near t/e cﬂ-'él(

Fa. I/MJ

AU bé)ecfj Near e Surface ot
tﬂe, ea.r'é{ Farl &w‘b{ a. lensTant |

acceleration of ~ Smist

t(a "
eﬁaa.tiau.s e Hhave beea a;,zo?
‘-yar COAS Caat acc eleratron

‘\,0,0@ to an DéJecf in free
Fall. (?;I)are. he RESISTANX £)



e 4 600-2 Hrows a. byl woward
ot o ,jloceQ of .o m/s frem o
baildaag 9.0 m 6(&4 . (oo /onj
ol i€ take Jor te batl to At
e ?rormJ"? g




€/

ABOY O A Bu)LOIvs

OF HE!ENT SO m THROWS
A BALL LPLARD L1 T7H Ao

)IT AL VELOCI T Y oF [Aom/s

TIME FPOR SToE€ To REACH
MAL I1MUumn  HECEHYT

MaXimua. HE/&H»

TIME To NEACH LEUVEC o F
TH RO LSO ER.

Veloei17¥ at 7/9_/5 /S T A7

VELOCITY A0 POS/7r040 OF
STon & 477 ER 5.5/ /DS

VELol /7)) LoNE STOoE
Hrs b Ro wnd



V., =20 M/s

6) Max M%At Ve S
V= Vo'l"dc—

20.0 #’% 2. Z
i 09‘!6‘. = oq‘s

b) X< )fe*vot *z_4tt
o
+ Zomljx,? £43) --—2 (Z.A‘I}j
200 $om ff‘& u)
<) X= )(¢>v~-'/a*!:-'i‘az'tg A=K
o= Vot ";,L; t© )
R

20u/;— = (10) E= D
t= (1085




A) vebaty YV =Vem gt

V= (Rows ' (Gt t075)

= —Zo4/5
S—

e) A= Xaf'l}otbﬁjt
xe O+ (2omsY53)~ & l.Ims2)5s)"
= =R2.5m ‘




J) V= Y — ; t
V:(.?oa/; 1. @,;.,/; ‘Y 4.0%5)

- Note Same ‘"J"M
= oap/
- E’ « "JJ o/o/oaht deitectroy

o |
C) X= %*Uo{- -—;,'-72'-‘ afler 55
')(z GDMGISS) -—;:-(1,741/5"15'5}2

l: “odt S M ‘\

v.‘.‘- Va"j{'

= QoM (T V(5C 5s)

) Vs l/;’ rla (X)
A -—X& (X-%)

Vz: (20,/)) 2,2 (-5604)
l )<= -37m/_5i




If you drop a brick from a building in the absence of
air resistance, it accelerates downward at 9.8 m/s?. If
instead you throw it downward, its downward
acceleration after release 1s

A) less than 9.8 m/s?
B) 9.8 m/s?

C) more than 9.8 m/s?

D) impossible to determine with the information
given




Interactive Question

Ball A is &owcma from a window. At the same instant,
ball B is thrown downward and ball C is thrown upward
from the same window. Which statement concerning the
balls is 5@0@%@53\ true 1f air resistance is neglected?

A) At one instant, the acceleration of ball C is zero.

B) All three balls strike the ground at the same time.

C) All three balls have the same velocity at any instant.

D) All three balls have the same acceleration at any
Instant.

E) All three balls reach the ground with the same
velocity.




Interactive Question

A person standing at the edge of a cliff throws one ball
straight up and another ball straight down at the same
initial speed. Neglecting air resistance, the ball that hits
the ground below the cliff with the greater speed is the
one 1nitially thrown

A) upward

B) downward

C) neither, they both hit at the same speed.

D) It is impossible to tell with the information given.



Interactive Question

Two balls are thrown straight up. The first is thrown with
twice the initial speed of the second. Ignore air

resistance. How much longer will it take for the first ball
to return to earth?

A) V2 times as long.
B) Twice as long.

C) Three times as long.
D) Four times as long.
E) Eight times as long.




